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] BETYHE 0.06 - 0.06 -
| 2] REfE 0.06 - 0.06 0.06
| 3 BEREM 0.06 - 0.05 -
4 ARV SHE 0.05 - 0.05 -
| 5] ATIERER 0.05 - 0.05 -
| 6 FAENHE 0.06 - 0.06 -
| 7] REBHLES - - - _
|8 BUOSFREE 0.08 - - -
9 HIFHHE 0.06 - 0.06 -
10| 7878 AHRRBEIILY 0.05 - - -
1] GENNKI-C R EE 0.05 - - -
12| KRR BT 0.05 - 0.06 -
| 13] =ARAEE 0.05 _ N _
14 TRy RAU-EEE| 005 - - -
| 15]  |oYyrE 0.06 - 0.06 -
| 16] E %’Eﬁ%‘ i 0.05 0.05 0.05 -
17 B [WL i3 o0s - - 007
18] REFLU-CSUFESABE| 006 0.08 - -
| 19) REEIECHIEC 0.06 - N _
| 20 EhELREER 0.06 0.06 0.07 -
21 KIPRER 0.06 0.06 0.06 -
29| E/vFA 0.06 0.05 - -
E KARER 0.06 0.06 0.05 -
| 24] VEDLYREE 0.06 - 0.05 -
KA IS ERRE T 0.05 - 0.05 -
| 26] BEREH 0.06 007 007 -
27 BEUVHLILEERE 0.05 - - -
E ELFHHE 0.08 0.09 0.08 -
29 BRESHE 0.07 - 0.07 -
E HRRER 0.05 0.07 - -
31 ECOELE 0.08 - 0.07 -
| 32] q |BEIRERT 0.06 - 0.05 -
% JB138 fmt j_cﬁtﬂﬁ’:iéw? 0.06 0.07 0.06 -
| 34] e RARBM 007 008 - 0.07
35 KIRER 0.08 0.08 0.08 -
| 36] BIRER 0.07 0.07 0.07 -
| 37, LFMRER 0.07 0.06 0.05 0.06
| 38, q  |LHRER 0.07 0.05 0.06 -
39 B |FIRHRERT 0.07 0.05 - 0.06
o] 7P % e 0.07 0.07 0.07 0.06
i X - :
41 BEXREM 0.07 0.07 0.07 0.08
| 42| AOVREE 0.07 0.07 - 0.07
43 TIYRAREE 0.05 - 0.05 -
44| 7TH138 | & |HEREM 0.07 0.07 - -
45 it |EwEEER 0.07 0.06 0.06 0.07
46| 7768 tﬁ EREEHR 0.07 0.06 0.07 0.07
47 X [fEIRER 0.07 0.06 0.08 0.08
48| 7H28 | HE |[HEMRRERER 0.08 - - -
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